9.4 Solutions

4. Consumer surplus = fuauu [p(x) — p(300)] dz P

:ﬂm /p =20-0.05x

[20 — 0.05z — (5)] d=

:?l.'m 2] 300 consurmer surplus

(15 — 0.05z) dz = [152 — 0.025z

= 4500 — 2250 = $2250 5 \

7. P=ps(z) = 400=200+022"? = 200=022°2 = 1000==z%? = x=1000*%=100.

Producer surplus = [;*°[P — ps(2)] dz = [, *[400 — (200 +0.22%/)] dz = [} (200 — £2%/%)
100
[2009: _ 5”] — 20,000 — 8,000 — $12,000
i}
8. p =50 — - and p = 20 + - intersect at p = 40 and = = 200. P ‘:3:;]‘:[?“

50
Consumer surplus = [7°°(50 — L= — 40) d = [102 — 522]2"" = $1000 w0
30
Producer surplus = [°° (40 — 20 — 2) d= = [202 — 42°]2*° = $2000 20 Pty producer
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B F = = Tsp0e2n@)

7~ 1.19 x 10~ * em®/s

18. As in Example 2, we will estimate the cardiac output using Simpson’s Rule with A+ = (20— 0) /10 = 2.
f:n e(t) dt = 2[c(0) + 4c(2) + 2¢(4) + 4¢(6) + 2¢(8) + 4¢(10) + 2¢(12) + 4e(14) + 2¢(16) + 4c(18) + <(20)]
=2[04+4(2.4) +2(5.1) +4(7.8) +2(7.6) + 4(5.4) + 2(3.9) + 4(2.3) + 2(1.6) + 4(0.7) +0]
= 2(110.8) = 73.87T mg- s/L

A 8 . .
Therefore F ﬁ ﬁ =~ 0.1083 Lf-"S or 6.498 L;’mJ_n_
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